Nora BK
Sommarrally barometer 2019-08-26

Partavling, 9 bord, 18 par. Antal brickor: 24. Medel: 192.0.

Plac Par Poéang % Namn MID Klubb
1 1 252 65.63 Leif Ernstsson - Sten Nilsson 13674 10142 Lindesbergs BS
2 16 245 63.80 Leo Karttunen - Magnus Hultman 7838 14044 Nora BK - Lindesbergs BS
3 17 231 60.16  Kjell Abrahamsson - Agneta Strdng Abrahamsson 61459 61460 Nora BK
4 18 225 58.59 Per Eliason - Mats Hogberg 83479 52613 Lindesbergs BS
5 13 215 55.99 Mikael Hallin - Helen Uliczka 4053 31853 Lindesbergs BS
6 15 214 55.73  Bo Wiker - Ylva Kallgvist 4014 82474 Fagersta BS - Nora BK
7 11 207 53.91 Gun Rohnisch - Anki Johansson 10595 29219 Orebridgen
8 14 191 49.74  Birgitta Jonasson - Birgit Pettersson 93937 64081 Lindesbergs BS
9 12 187 48.70  Roger Thynell - Ulf Hultberg 52632 54340 Nora BK - Orebridgen
10 3 185 48.18 Dick Andersson - Karl-Gunnar Magnusson 12411 10376 Nora BK
11 4 184 47.92  Hjordis Andersson - Birgitte Thellefsen 46845 39856 Lindesbergs BS
12 7 181 47.14 Hakan Elensky - Berit Jonsson 42650 42639 Nora BK
13 6 177 46.09 Bengt Johansson - Brittmarie Forsberg 10368 20923 Nora BK
14 2 175 4557  Gunnar Dybeck - Asa Lindberg 9929 20366 Nora BK
15 5 168 43.75 Stina Gottliebsson - Ing-Marie Backman 53995 59209 Lindesbergs BS
16 9 147 38.28 Lennart Bengtsson - Bernt Argards 25815 59531 Nora BK
17 10 138 35.94 Irene Haberger - Jan Olsson 55643 64502 Nora BK
18 8 134 34.90 Helén Harjamaki - Anne-Marie Thell 48589 59527 Nora BK
1 4« KDKn4 2 4 D1075 3 & KKn3
Nord vES83 Ost v3 Syd vKn1097
Ingen ¢ 1072 NS + Kn10652 ov 495
2974 #EK6 #Kn1052
410876 452 4 Kn9 » EK8432 4E942 D876
v D95 v K104 vK1098 v EKn642 vD865 vK
+D84  ¢K93 49743  ¢- +Knd ¢ E108762
«D62 #KKn1053 «DKn4 4103 K94 &D6
« E93 46 105
vKn762 vD75 vE432
¢ EKn65 + EKD8 + KD3
&E8 #98752 &E873
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
3 16 24 N+1 +3 140 150 10|17 2 44 0-3 ¢A 150 16.0 00|11 10 3v N= a7 140 140 2.0
18 1 24 N+1 +3 140 150 10|10 9 4v0O-2 ¢A 100 13.0 30|13 8 2v N+1 «Q 140 140 2.0
10 9 2NN= T 120 120 40|14 5 4v0O-2 ¢A 100 13.0 30|15 6 2v N+1 ¢A 140 140 2.0
13 6 24 N= a2 110 80 80|12 7 240-1 +Q 50 90 70| 1 3 2vS= a2 110 9.0 7.0
14 5 24 N= L X 110 80 80|18 1 4v0O-1 ¢ A 50 90 7.0| 5 16 2vy N= a7 110 9.0 7.0
17 2 2vS= *2 110 80 80| 4 15 3vO= ¢ A -140 50 11.0|14 7 34 V-1 *5 100 6.0 10.0
8 11 2¢ S= a7 90 3.0 13.0|13 6 2vO+1 +A -140 50 11.0| 4 17 3v S-1 ¢4 -50 3.0 13.0
12 7 INS= *2 90 30 13.0| 3 16 3y O+1 +A -170 20 140|118 2 2vN-1 ¢ A -50 3.0 13.0
4 15 3v S-2 *Q -100 0.0 16.0| 8 11 4v O+1 +A -450 0.0 16.0| 9 12 4v N-2 ¢ A -100 0.0 16.0
4 4 ED95 5 & KKn7 6 4 D6
Vast vED32 Nord vD742 Ost v 65
Alla 47642 NS +3 ov ¢ EKn975
a7 109832 #EKN76
48  KKn1064 « D64 495 # EK108742 4953
v Kn109 v K864 v K10 v EKn98 vD v EK742
¢ EDKn +83 ¢Kn42 ¢ D1098 +8 ¢+ KD64
#DKn8432 #K10 #ED764 #KKn5 #K954 8
4732 « E10832 4 Kn
v75 v 653 vKn10983
+ K1095 + EK765 ¢ 1032
#E965 »- #D1032
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 3 3aV= +4 -110 140 20| 2 4 44 S= vK 620 16,0 0.0(14 9 34 V+2 ¢ A -200 16.0 0.0
11 10 2v O= v7 -110 140 20(16 7 24 S+2 2 170 140 20(15 8 44 V= v6 -620 140 2.0
18 2 2a4V+1 ¢4 -110 140 20|12 11 3NO-3 a2 150 11.0 50| 2 4 44 V+1 ¢ A -650 6.0 10.0
5 16 3¢ 0+1 ¢4 -130 100 6.0(18 3 3NV-3 4K 150 11.0 50| 5 1 44V +1 v6 -650 6.0 10.0
9 12 34V +2 49 -150 70 9.0|14 9 34 S= «A 140 80 80| 6 17 44 V+1 *A -650 6.0 10.0
15 6 INV+2 ¢7 -150 7.0 9.0|10 13 44 V- a7 100 6.0 10.0|10 13 54 V= ¢ A -650 6.0 10.0
13 8 2¢ N-2 «K -200 3.0 13.0|15 8 34 S-1 vT -100 40 12.0(12 11 4e V+1 »A -650 6.0 10.0
14 7 2¢ N-2 a4 -200 3.0 13.0| 6 17 2NV= &K -120 20 14016 7 44 V+1 v6 -650 6.0 10.0
4 17 3NV +2 v2 -660 00 16.0| 5 1 34 S- *A -200 0.0 16.0|18 3 44 V+1l v6 -650 6.0 10.0
7 4 ED42 8 4 ED10 9 410975
Syd v 96 Vast v KKn10 Nord vD84
Alla ¢ KKn52 Ingen + D83 ov 4942
D103 #KKn107 #DKn9
4 K98 & Kn53 & KKn62 4983 s E 4 K3
vED4  v8753 vED765 v93 v EK1073 vKn952
498763 ¢ E10 ¢+Kn65 ¢ K107 ¢ 753 + KD108
*Kn6 #E752 &8 #ED542 210873 &E54
41076 4754 4 DKn8642
v KKn102 v 842 v6
+D4 ¢ E942 + EKn6
2K984 £963 *K62
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
13 12 INN+2 *2 150 16.0 00|15 10 2NO-3 ¢A 150 16.0 00|16 11 5v O-2 4Q 200 150 1.0
3 5 INS+1 +3 120 110 50 6 2 INN+1 *4 120 13.0 30|18 5 3NO-2 «Q 200 150 1.0
11 14 INS+1 +3 120 11.0 50|11 14 INN+1 »2 120 13.0 30| 7 3 4v0-1 «Q 100 11.0 5.0
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15 10 INS+1 ¢3 120 110 50|16 9 2vV-2 +3 100 90 7.0|17 10 4v V-1 «T 100 11.0 5.0
17 8 2NN= «2 120 11.0 50|17 8 2v V-2 *J 100 90 7.0|12 15 34 S-1 vA -50 80 8.0
16 9 24 N= ¢A 110 6.0 10.0| 7 1 INN= *2 90 50 11.0| 1 9 44 S-2 vA -100 6.0 10.0
6 2 INN= a5 90 20 140|18 4 INN= *2 90 50 11.0|14 13 3v V+1l a7 -170 4.0 120
7 1 INN= &5 90 20 140| 3 5 240-1 ¢3 50 20 140| 4 6 44DS-2 7 -300 20 14.0
18 4 INS= +9 90 20 14.0|13 12 INN-1 &5 -50 0.0 160| 8 2 4v0O= a2 -620 0.0 16.0
10 # DKn962 11 495 12 a2
Ost v 85 Syd v EK1063 Vast v EKDKn109
Alla + KD6 Ingen 4 862 NS ¢ Kn8
#Kn102 «D72 #K1073
4 EK10753 8 48632 & EKKn10 4 DKn10864 #4E9
vE10 v KKn94 vD975  vKn84 v 64 v-
¢ 9853 +10 ¢ Kn ¢ E1095 ¢ 65 ¢ K109743
&E #K976543 #EKn98 #103 #ED5 #Kn9842
a4 «D74 « K753
vD7632 v2 v 87532
¢ EKn742 ¢ KD743 ¢ ED2
+D8 +K654 »6
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
16 11 44DV-2 +K 500 16,0 00|17 12 34 O-2 v2 100 16.0 00|13 16 54DV-4 <vA 800 150 1.0
1 9 34V-3 v8 300 130 30| 2 10 24 0O-1 *6 50 120 40|18 6 5#4DO-4 ¢3 800 150 1.0
17 10 3NV-3 ¢6 300 130 30| 5 7 240-1 v2 50 120 40| 1 11 5v N= A 650 80 8.0
4 6 34V-1 ¢K 100 70 90| 9 3 340-1 v2 50 120 40| 2 10 5¢v N= A 650 80 8.0
7 3 44 V-1 v5 100 7.0 90| 8 4 24 0= v2 -110 80 80| 5 7 4vN+1 «A 650 8.0 8.0
8 2 4eV-1 v8 100 70 90| 1 11 24 O0+1 v2 -140 4.0 120|115 14 5v N= A 650 80 8.0
12 15 34 V-1 ¢K 100 70 9.0|15 14 24 O+1 v2 -140 40 12017 12 4v N+1 «A 650 80 8.0
14 13 24 V= +6 -110 10 150(18 6 14 O+2 v2 -140 40 120 9 3 5vsS-1 +Q -100 2.0 14.0
18 5 3#0= a4 -110 10 150(13 16 34 O+1 v2 -170 00 16.0| 8 4 3aV= v9 -140 0.0 16.0
13 «E942 14 » EK63 15 « ED10984
Nord v 84 Ost v D1054 Syd v K1073
Alla + K109 Ingen + D10 NS + 10
«ED108 «KD8 «D9
4 K108 «Kn63 474 +108 432 4 K75
v1073 v92 vE9 v K72 vKn52 vED9
¢E75 ¢ DKn32 ¢ Kn62 ¢ 987543 ¢+ Kn962 ¢ ED83
#5432 #Kn976 #Kn109542 %63 #K864 #E103
« D75 # DKn952 4 Kn6
v EKDKn65 v Kn863 v 864
+ 864 ¢ EK ¢ K754
&K *E7 #Kn752
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
3 11 3NN+3 ¢3 690 150 10| 1 13 44 S+1 ¢2 450 140 20|11 5 3«V-2 ¢T 100 150 1.0
9 5 3NN+3 ¢Q 690 150 10| 3 11 44 S+1 a7 450 140 20|18 8 24 0-2 L) 100 150 1.0
18 7 4v S+2 8 680 120 4.0|16 15 44 S+1 vA 450 140 20| 3 13 3NO-1 s 50 11.0 5.0
2 12 3NN+2 v6 660 90 7.0| 9 5 4aS= vA 420 90 7.0| 7 9 3NO-1 L) 50 11.0 5.0
16 15 3NN +2 ¢4 660 9.0 7.0|18 7 44S= vA 420 9.0 7.0| 2 14 24 N-1 *A -100 8.0 8.0
1 13 4v S+1 3 650 40 120| 2 12 64 S-1 vA -50 4.0 120 4 12 2NO+1 &) -150 4.0 12.0
6 8 4v S+1 ¢A 650 40 120| 6 8 64S-1 vA -50 40 120|115 1 INO+2 &) -150 4.0 120
14 17 4v S+1 ¢5 650 40 12014 17 54 S-1 vA -50 4.0 120|117 16 2NO+1 46 -150 4.0 12.0
10 4 2vS+3 ¢A 200 00 16.0|10 4 64 S-2 vA -100 00 16.0|10 6 3NO= LN -400 0.0 16.0
16 « KD873 17 «KD 18 « EKKn106
Vast v 9842 Nord v D10542 Ost v D954
ov ¢ 753 Ingen ¢ EDKn2 NS ¢ Kn93
&5 »K3 &4
«E1042 &5 «E6532 4Knl10984 8 497543
vEKn5 vKDI10 v- v KKn6 vKnl087 vK
¢ EKKn8 ¢ D109 ¢ K8763 ¢ - ¢ D654 ¢E2
#96 #EDKn843 «D87 #E10965 #7632 #EKKn85
« Kn96 a7 «D2
v 763 vE9873 vE632
¢ 642 ¢ 10954 + K1087
#K1072 #Kn42 «D109
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
10 6 6NV-4 «J 400 160 00|18 9 3v N= a) 140 16.0 00|18 9 3v N= A 140 16.0 0.0
3 13 640-1 «9 100 140 20| 1 17 4vy N-1 L) 50 120 40|16 2 2NN= «A 120 140 20
7 9 3NV= 43 600 11.0 50| 4 14 4v N-1 a) -50 120 40| 1 17 14 0-2 +8 100 11.0 5.0
18 8 3NV= &K -600 11.0 50(11 7 4v N-1 L) -50 120 40| 5 13 14 0-2 v3 100 11.0 5.0
2 14 3NV +1 a7 -630 50 11.0|12 6 34 V+2 vA -200 80 80| 3 15 140-1 v2 50 6.0 10.0
4 12 3NV +1 3 -630 50 11.0| 3 15 54 O= vA -450 50 11.0| 8 10 14 0O-1 v2 50 6.0 10.0
11 5 3NV+1 oK -630 50 11.0|16 2 44 O+1 vA -450 50 11011 7 140-1 vA 50 6.0 10.0
15 1 3NV+1 a7 -630 50 11.0| 8 10 44DV +1 v2 -690 20 140| 4 14 4vy N-1 *A -100 2.0 14.0
17 16 6¢ V= K  -1370 00 16.0| 5 13 54DV +1 v2 -750 00 16.0|12 6 2v N-2 *A -200 0.0 16.0
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19 32 20 « KKn1065 21 « EK93
Syd v D83 Vast v K102 Nord v K95
ov ¢ KKn76 Alla ¢+ D7 NS + 1086
#E1062 #EKn7 D97
« KDKn1086 & 74 4 D98 4 E73 4D864 475
vE5 v Kn1064 vDKn873 v9654 vD82 vKnl043
498 + E1053 4108 + KKn94 ¢ EKn2 ¢ K7543
#Kn97 #854 +D86 *K2 K105 #E3
4 E95 442 4« Kn102
v K972 vE vE76
¢ D42 ¢ E6532 +D9
#KD3 #109543 #Kn8642
Par Kontr Ut Res Par Kontr Ut Res Poang Par Kontr Ut Res
13 7 34DV-2 &A 500 00| 6 14 3NN= +9 600 16.0 00| 7 15 3v aJ 150 0.0
18 10 2v S+1 4K 140 2013 7 2NSsS= vQ 120 140 20|14 8 2 &A 140 2.0
6 14 3v S-1 a K -50 60| 4 16 24 N= v5 110 120 40|13 9 3v +Q 100 4.0
9 11 3vS-1 &K -50 6.0[12 8 INS= v3 90 90 7.0 1 4 2 A -100 8.0
17 3 3vS-1 &K -50 6.0[17 3 INS= v7 90 9.0 7.0 5 17 2 vJ -100 8.0
4 16 4v S-2 +9 -100 100 2 1 INS-1 v6 -100 3.0 13.0(18 11 1IN v2 -100 8.0
5 15 24 V= vQ -110 12.0| 5 15 INS-1 vQ -100 30 130 3 2 3¢ aJ -110 12.0
2 1 3NS-3 &K -150 15.0| 9 11 2NN-1 v5 -100 3.0 13.0( 6 16 1IN &2 -120 14.0
12 8 3NN-3 a7 -150 15.0|18 10 3#S-1 v3 -100 3.0 13.0(10 12 3% a5 -200 16.0
22 +E 23 +« K64 24 « D85
Ost v KKn1083 Syd v KDKn73 Vast v K65
ov ¢ Kn82 Alla + K10 Ingen ¢+ Kn742
#Kn843 &E82 K96
453 &« KD942 4 D1032 4 Kn875 4 EKN72 4109643
vED76 v42 v- vE1085 vEKn108 v92
+ ED95 ¢ K1064 4985432 + Knb6 + K109 +D8
K105 #D9 #KKn7 +D63 #Kn832
4« Kn10876 «E9 4K
v95 v 9642 vD743
¢+ 73 ¢+ ED7 ¢ E653
&E762 #10954 &E754
Par Kontr Ut Res Par Kontr Ut Res Poang Par Kontr Ut Res
1 4 44 V-3 &4 300 00| 4 3 3NN+1 v5 630 150 10| 4 3 24 V= v5 -110 4.0
3 2 4eV-2 8 200 40|14 10 3NN+1 v8 630 150 10| 7 17 24 V= *4 -110 4.0
10 12 2v O-2 &A 200 40| 2 5 4y N= 6 620 6.0 10.0(14 10 24 V= v5 -110 4.0
14 8 34 V-2 v3 200 40| 6 1 4vy N= *J 620 6.0 10015 9 24 V= 2 -110 4.0
5 17 3¢ V= v3 -110 80| 7 17 4vy N= *J 620 6.0 10.0(18 12 24 V= *4 -110 4.0
7 15 2¢ V43 v3 -150 10.0| 8 16 4y N= a7 620 6.0 100 2 5 24 V+1 v6 -140 13.0
6 16 3NV +1 vJ -630 13.0| 11 13 4y N= a7 620 6.0 100 6 1 24 V+1 2 -140 13.0
18 11 3NV +1 &4 -630 13.0|15 9 4y N= 6 620 6.0 100 8 16 34 V= *4 -140 13.0
13 9 3NDV= vT -750 16.0| 18 12 4v N= +6 620 6.0 10.0|11 13 24 V+1 *4 -140 13.0
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